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3AMEEGEMDOEENRUTIE (1545) T=PCO

EBREIOE G
A 24 (8) 25 (A) 26 (N) 27 (K) 28 (K) 29 (&) 30 (£)
EGFIE Y= - - - - - - -
SH | AWEHAE (m2) - - - - - - -
TIHAEE (L/m2 - B) - - - - - - -
Y NECADEHENE| 3.336-04 (]RK) [1.82E-04 (§K) |1.77E-04 (F§K) |1.46E-04 (F|K) [2.11E-04 (§]K) [2.06E-04 (F]K) |3.14E-04 (F]K)
(Ba/cm3) ** ND (81N ND (&N ND (&7 ND (&N ND (&N ND (&) ND (&)
A ch (=) 1(A) 2 () 3 (X&) 4 (K) 5 (&) 6 (£)
G Y= - - - - - - -
s EEAst (m2) - - - - - - -
TIEIEE (L/m2 - B) - - - - - - -
B R NEZADFHANE | 2.46E-04  (BRK) |1.29E-04 (F]|KX) [2.25E-04 (§K) |1.79E-04 (F|XKX) |1.81E-04 (F]|K) |2.72E-04 (HF]XK) |1.74E-04 (F]|K)
(Bq/cm3) *1 ND (&Y ND (&v) ND (&V) ND (&) ND (&Y ND (&) ND (&)
A yA(=)) 8 (A) 9 (N) 10 (K) 11 (K) 12 (&) 13 (%)
[ GFIE Y= - - - - - - -
B EEAsT (m2) - — — — _ — —
TIEIEE (L/m2 - B) - — — _ _ — —
BEYZ NEZSDHINE| 2.48E-04  (]RA) [1.42E-04 (K) |1.47E-04 (F]|AK) |1.42E-04 (H|AKA) [1.83E-04 (H§]K) [9.90E-05 (§]K) |1.33E-04 (F]|K)
(Bq/cm3) *1 ND (&Y ND (&V) ND (&Y) ND (&) ND (&Y ND (&) ND (&)
A 14 (H) 15 (A) 16 (X) 17 (K) 18 (K) 19 (&) 20 (£)
[ GFIE Y= - - - - - - -
68 AfpmEESst (m2) — — - — — — _
TIHAEE (L/m2 - B) - - - - - - -
EHYZ NEZAOEHANE | 1.76E-04  (FxK) |1.30E-04 (&F|K) |1.35E-04 (&|AK) |1.38E-04 (&FK) [1.23E-04 (&FK) [2.70E-04 (F|K) |1.57E-04 (&]|XK)
(Bq/cm3) ** ND (&M ND (&) ND (&) ND (&) ND (&) ND (&) ND (&)
A 21 (8) 22 (A) 23 (K) 24 (K) 25 (K) 26 (&) 27 (%)
EGSE =S - - - - - - - - ™ @\I -
BREEAET (M2) - - - (TEERBRNEERE) (TEERBASEHE) - -
TIHAEE (L/m2 - B) - - - (FEBABNELE) (FEEAB =) - -
EESYZ NEZSOHANE | 1.386-04  (RK) [2.10E-04 (F]XA) |1.62E-04 (§]K) |8.47E-05 (§]K) |2.12E-04 (]|K) [1.35E-04 (F|KA) |1.02E-04 (F]XK)
(Bq/cm3) *! ND &I | ND O &N | ND O @M | ND &N | ND N | ND &N | ND O @) 248 258
A 28 (8) 29 (A) 30 (X) 1 (K) 2 (K) 3 (&) 4 (£)
BT SRR - - -
ETREEAET (Mm2) - - -
TIHAEE (L/m2 - B) - - -
SR NEZSDFANE | 1.33E-04  (§&K) |1.57E-04 (§F|KA) |1.02E-04 (&]XK) (8]&X) (&X) (&X) (8]&X) 3
(Bg/cm3) ** ND (&Y ND (&Y ND (&/N) (&) (&) (&) (&)
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BRI SREE

EfmEEAET (m2)

FgEmE (L/m2- @)

B X NEZ S DEHRIE

(Bg/cm3) *2

4.99E-05 (]X)
ND*® (&N

4.64E-05 (8BX)
ND*® (8N

5.53E-05 (&K)
ND*3 (&)

5.73E-05 (&K)
ND*® (&N

3.97E-05 (8&X)
ND*® (8N

3.77E-05 (8&X)
ND*3 (&)

5.61E-05 (F&K)
ND*® (&)

6H

GIPSE T

BhmEiESst (m2)

FgEmE (L/m2- @)

B X NEZSDEHRIE

(Bg/cm3) *2

3.96E-05 (]&X)
ND* (&)

4.31E-05 (8X)
ND*® (&)

4.10E-05 (82K)
ND™® (V)

5.40E-05 (&X)
ND* (&)

4.20E-05 (8X)
ND*® (&)

5.69E-05 (&X)
ND™® (V)

4.47E-05 (BK)
ND* (&)

BT SR

BhmEiESst (m2)

FgEmE (L/m2 - B) X!

EiY X MEZHDEHANE

(Bg/cm3) *2

4.37E-05 (]BX)
ND* (&)

4.14E-05 (8BX)
ND* (&)

5.42E-05 (&K)
ND*® (Y

3.40E-05 (8X)
ND* (&)

5.99E-05 (8&X)
ND* (&)

5.25E-05 (&X)
ND* (Y

4.00E-05 (]X)
ND* (&)

[GPSE =

EfmEEAET (m2)

FgEmE (L/m2 - B) X!

B X NEZ S DEHRIE

4.84E-05 (&XK)

3.37E-05 (&X)

3.42E-05 (&X)

4.96E-05 (&XK)

3.67E-05 (&X)

4.74E-05 (&X)

4.16E-05 (&XK)

(Bq/cm3) *? ND*® (&) | ND*2 (&) | NDFP &N | NDF (&Y | NDF (BN | NDFP (&)Y | NDF (&)
B SRR - - - - - - -
BAEEST (m2) — - = - - _ - _
THIEAE (L/m2 - E) - - - - - - -
@YX MEZSDHIME [3.28E-05 (BKX) [3.20E-05 (]&X) - (&X) - (&X) - (&=X) - (]&=X) - (&X)
(Bq/cm3) *2 ND* (&)\) | NDF (BN - (&) - (B - (8N - (&) - (B
X1 FHIME(IVEER]. FREEICHIT TR %2 RICOEHAS X MEZYEHANEISRIRME %3 ND=At&H 2020568238k =

X4 EAUMERRETE TICHVER - (EEER (ST

4




